
Physics 2205 11 November, 1999
Equation Sheet for Exam 2

g = 9.8 m/s2 Io = 10−12 W/m2

v = ∆x/∆t a = ∆v/∆t

Fg = m g Fe = − k x Ffr = µ FN

Ug = m g h Ue = ½ k x2 Fb = ρfl Vd g

K = ½ m v2 W = F d cos θ P = W/t

p = m v Σ F = ∆p/∆t v1i − v2i = v2f − v1f

xcm = Σ (mi ri) / Σ mi

θ = (½) αt2 + ωot + θo x = (½) at2 + vot + xo s = θ r
ω = αt + ωo v = at + vo ω = ∆θ/∆t v = ω r
ω2 = ωo

2 + 2α(θ−θo) v2 = vo
2 + 2a(x−xo) α = ∆ω/∆t at = α r

ar = v2/r = ω2r

τ = r F sin θ Σ τ = I α

ρ = m/V P = F/A ∆P = ρ g h
Pin = Pout A1v1 = A2v2 = ∆V/∆t

f = 1/T ω = 2 π f
T = 2 π (m/k)1/2 T = 2 π (L/g)1/2

v = λ f v = (FTL/m)1/2 λn = 2L/n
fn = vn/(2L) = n f1

θi = θr

β2 − β1 = 10 log (I2/I1) I ∝ 1/r2 A ∝ 1/r
P = I/A

fbeat = ∆f ∆λ/λ = vsource/vwave

P here can represent either power or pressure, depending on the context.
Similarly, A can be either area or amplitude.


